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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJXML�� ���� 3HQJDUXK� NXDOLWDV� SURGXN�
WHUKDGDS� SHULODNX� SHUDOLKDQ� PHUHN�� ���� 3HQJDUXK� SURPRVL� WHUKDGDS� SHULODNX�
SHUDOLKDQ� PHUHN�� ���� 3HQJDUXK� NHEXWXKDQ� PHQFDUL� YDULDVL� WHUKDGDS� SHULODNX�
SHUDOLKDQ� PHUHN�� -HQLV� SHQHOLWLDQ� LQL� DGDODK� NDXVDWLI� GHQJDQ� SHQGHNDWDQ�
NXDQWLWDWLI�� 3RSXODVL� GDODP� SHQHOLWLDQ� LQL� DGDODK�PDV\DUDNDW� .RWD� 3DGDQJ� \DQJ�
SHUQDK� PHQJJXQDNDQ� SURGXN� NRVPHWLN� 6DULD\X� GDQ� VHNDUDQJ� WHODK� EHUDOLK� NH�
SURGXN�NRVPHWLN�PHUHN�ODLQ��7HNQLN�SHQJDPELODQ�VDPSHO�\DQJ�GLJXQDNDQ�DGDODK�
SXUSRVLYH� VDPSOLQJ� GHQJDQ� MXPODK� VDPSHO� VHEDQ\DN� ���� UHVSRQGHQ�� -HQLV� GDWD�
\DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� GDWD� SULPHU� GDQ� VHNXQGHU�� 7HNQLN�
DQDOLVLV�GDWD�PHQJJXQDNDQ�DQDOLVLV�GHVNULSWLI�GDQ�LQGXNWLI�PHODOXL�DQDOLVLV�UHJUHVL�
EHUJDQGD�GHQJDQ��PHQJJXQDNDQ�SURJUDP�6366�YHUVL�����+LSRWHVLV�GL�XML�GHQJDQ�
XML�)�GDQ�XML�W�SDGD�Į ������+DVLO�SHQHOLWLDQ�LQL�PHQXQMXNNDQ�EDKZD������.XDOLWDV�
SURGXN� EHUSHQJDUXK� VLJQLILNDQ� SRVLWLI� WHUKDGDS� SHULODNX� SHUDOLKDQ� PHUHN�� ����
3URPRVL� EHUSHQJDUXK� VLJQLILNDQ� SRVLWLI� WHUKDGDS� SHULODNX� SHUDOLKDQ� PHUHN�����
.HEXWXKDQ� PHQFDUL� YDULDVL� EHUSHQJDUXK� VLJQLILNDQ� SRVLWLI� WHUKDGDS� SHULODNX�
SHUDOLKDQ�PHUHN�
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